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> 89 HAEH SFHATSE 1,172,06452 21U(1,286,460) ] 8.9%(114,396%F) 712,

HAE7(1,251,743%) the] 6.4%(79,679%) 7+4

=
8E(A) 1,251,743 27.7 35.1 32.8 44
h 1~8E(B) 10,307,627 28.0 35.6 32.2 4.2
78(C) 1,286,460 29.0 35.1 31.5 4.4
2015 82(D) 1,172,064 28.7 34.6 323 L4
1~8E(E) 9,015,850 28.7 353 31.6 4.3
TIEHID-C) A114,396 A03 A05 0.8 0.0
HAS7[ChEID-A) 279,679 1.0 A05 A05 0.0
HA=ACHHIE-B) A119,713 0.7 A04 A05 0.1

) 1. 2011 68 1Y 2H SiXISEHE7 g2

2. 2013 72 1Y 25 XSS RNE(T, 1, 2, SLi5g22 )
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> A= A=A (FE) kg B ES7H2 5472608 HU(5,664¢) t] 1929 steH(E<] A1)
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